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X4 Jn—K4%  RE% EEL-RESE  APE e B 5%
A—T4UT«4 HE7E— AH AKX TERKE 7.90E-03 m3
A—T4YT«4 HET7A— AH @K @K 1.00E-04 m3
A—T4YT«4 HEIA— AH B — % ik JP304002 g 90E-02 kg
A—T4)T«4 HET7A— AA KAHR RAHR 1.16E-01 Nm3
A—T4)T«4 HET7A— AN BH L2 JP311005 7 00E-04 kg
A—T4Y74 HETZA— AN B Bho# JP120001 1 26E-01 kWh
A—T4)T«4 HFRET7A— AN BE-CEH #Ri5E-CE il JP111023 1 01E-01 kg
EiR/EMHE $FEIa— AH R—FHAL R—FH A+ 2.74E+00 kg
ER/BE#ME Eoo— AH FHEV—S KERIEFRUD L 9.00E-02 kg
&R/ EME $EIR— AN £RAK =X =174 JP315031 3 90E-02 kg
KEBHEHY EATOo— dHH HEK 5.40E-03 m3
KEHEY EAXTJO— A SS 5.00E-05 kg
KEHEEY EAXDO— HA oil & grease 4.70E-04 kg
KEHEY EAXDO— HHO He 2.40E-10 kg
ASB#HEY EATOD0—Hh TOthOXRKEELEY 0.00E+00 kg
AKBHHY EX70— HAH co2(tm/ER) 7.07E-01 kg
ASEHEHY EXT70— H NOx 8.60E-04 kg
ASEHHY EAXT7O0— HH SOx 3.40E-03 kg
ASEHHY EXTOO0— H7 He 2.10E-07 kg
ALEHHY EXon0—dHh E0LA 1.70E-04 kg
BEEY hE7A— Hh KiE TOMDEERREZEY * 1.14E+00 kg
BEEY tETa— Hh TOMIEL SN (RSY) * 2.46E-02 kg
EOpT h7O0— HAh gl-i‘:—#tb‘frbﬁ%é%ﬁ ;wﬂnw#ﬁ%ﬁﬁ( * 1.67E-02 kg [ A A
e FRE7O0— Hh BIETILS=OL(T BRIETILS=D LT JP317002 1 00E+00 kg
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